FHAE PR 49 101828 £BFIsr RT3 BHP L FEFPRA

5 - % - E = E % T E % &
v_,.] PRy ,fi p o+ o R Y ,fsl P o+ - lpoem ,fi B o+ = |prem %ﬂ il B - 3
JJ5 [m= (1) 2 953 | st 5 2 | 2152 s dmipr 2
JJ6 (M= (2) 2 |IK8|m= (3)¢ v * > | 2 JAE | St i i %7 2
7 |#+ (1) 2 co2(+ i ¢ 2 ]36N|= 2 3 % 2
N EEC ERNE)) 2 |4+ (3) 1
w | IK6|E-mp 2 » 0 JK5 |#8 7 (4) 1
5 K7 [Evaepg 0 [339[== (3) 2
= e+ 1 JK1 |# = (4) 2
JK3 %7 (2) 1
HmEAEp EA A EA AT P AMEZ AR i A - TLBREY > BERI O FRE2M A BTS2 BT £74E A o
U Isci|gms-) 2 560 |4zt 5 (- ) 2
I Isc2|gms ) 2 |563|srw-) 2
I |SL1|mes s () 2
1*[csslruera-) |3
|*j csolim g8 () 3
I,* 273 a5 3
e e 2
5! 888 | = 2 2
2l Dl 2
l;l CTi|rmer gy v(-H| 1 C35[¢ m g -9 (-) 4 C51|3 %¢+48(-) 3 C33|%3+%8(-) 3
wl lcr2lraergy (o) 1]c36|s merm-) I SR e IED) 3|csal|zrs(o) 3
I CTalg v pmmr ()| 1| |cU2[sszimspra)| 3| [oVi|grmmmr (—)| 1
” CT4| ¢ wmum™ (=) 1|cus|srzamersc) 3leve|zramer (o) 1
1% CT5 [4e.4ix (- ) 2 CW2| it ¢ 3+ (- ) 2 CV3|¢g+Fn k(-] 2
S CT6 |[4e4iix (=) 2 Jewalgas ¢ - (=) 2 |evalg v in(c) 2
iz 640 [ 19 fiz 3 ix 2
I MB2| 4 £ 45 2
!
£+ &g Lt 15118 A 14116 A 14112 A 6|6
S44 [pesp A (=) 2 [coolp » ¢ kampe | 2 237 |58 2 300 [15dr 4 2 47
G85(¢ m e &y iv(-)| 2 C73|¢+ 322 2 MOT7 | p Frir 4] 22 247 3
G86|¢ mg gy iv(-) 2 |ce3feimt g xrrggusi| 3 M32 [z %« 3 2 2
Cl9|5 £ ¢3-:2 2 Cz3|wied & % B Em 2 3|Psa|sermai 2
639 |2 7% @ 53 2 | 238 |sorr¢ 3+ 2 | C66 |12 p4 4.2 2
. 235 | p4 5% 12 2 |506 M=yt ggan 2 |CoNfm e 29 a1 2
% 246 | a8 2 472 |§147 ¢ 3 2
MG8|# 3z # 22 (-)| 2 cTols s grgv )| 1
ES MGO| = 3 i & £ 3E (=) 2 |cullzseray ir(c) 1
2 CU4[+rzgmezayi-)| 1
CUS |4+ mgspayic(c) 1
CUB|# s¢ygaammid(-)| 2
CU7|¢ =g 2 24 (o) 2
B83 | e {4031 3
%
1 B MBEEN 1288 A (GEL i 1 3 32840 > L ¥ L 17384 - EB 238 4) -
2\33@,23?1}:‘ B4R EI B EAE tB %2 L EEB128 40 37 2% o
3‘7‘\/*;‘: Fﬁ:ﬁiﬁ%ﬁﬁ?}i gi"/v%rﬁ'zj\ﬂlﬂ‘ﬁ“
4~ %‘»"CE?I’WHH&H% ? 2o BEdd WA o
5 27 B gAnird B 7 LA sEEA g 7R k-

6 AR (T4 ER



